
Short Answer Question (SAQ) Guide

Format 

On the AP exam, you will have 3 short answer questions to answer in 40 minutes. This equals out to roughly 13 minutes per question. The SAQs will have the following format: 

· Each question will be divided into at least 2 tasks, sometimes 3. Each task will be labeled (a, b, and c). 

· Each task is graded separately and worth 1 point each. The overall question is worth 3 points. In total, this section has 9 possible points and is worth 20% of your exam score. 

· You will have a provided, lined answer sheet to respond to each task. The sheet has around 23 lines to answer the question. You cannot write outside the provided lines. 
· The questions will focus on specific information: 

· Question 1 

· This question will require you to analyze a secondary source and the author’s argument in the source. 

· It will cover information from 1200-2001. 

· Question 2 

· This question will require you to analyze a primary source or a visual source. 

· It will cover information from 1200-2001. 

· Question 3 

· You will have two options to choose from or your last SAQ response. 

· The question will be a comparative question or a change and continuity over time question.  

· One option will cover 1200 to 1750 and one option will cover 1750-2001. 

General Strategy 

When answering a SAQ, follow the ACE strategy:  

· Answer the question. Provide a direct answer to the question. 
· Cite evidence. Provide specific evidence to support your answer. 
· Explain. Explain how the evidence you used answers the question. 
This should be done in around 2-3 sentences. It is absolutely crucial that you read the question carefully and fully answer the prompt given to you. Think AP (Answer the Prompt). It is also extremely important that you refer to any image or source that is used. You must reference the source or image in your response for questions 1 and 2. You will not get any of the points if you do not. 

Other Tips 
Following the above strategy should allow you to fully answer the question. In addition, you should ensure you also do the following: 

· As you read the question, ensure you understand the task you are being required to complete. Underline or circle key words in the question. Examine the sourcing information if it has stimulus material. Write notes and underline as you read (if there is a selection).. 

· You should be able to fully and completely answer each SAQ with some time left over. Since you have roughly 13 minutes per question, take around 1-2 minutes to plan out your response to each question. Organization is always helpful. 

· Ensure you directly and fully answer the question. The big idea is to both identify and explain. If you do not explain how your answer connects to the question or answers it, it will not count. Always analyze and explain. 

· If the question asks you to refer to the passage, image, graph, map, etc. in your response, you must identify something in the passage, visual, graph, table, etc. that supports your answer. 

· Ensure you answer within the provided space only. 

· Answer in complete sentences/paragraph form. Never do a bulleted list. 

· Do not be vague. Include specific examples or locations to support your response. 

Sample SAQ  

1. Answer all parts of the question. 

Many historians contend that the development of railroads in the early 1800s was a significant turning point in European history. 

(A) Identify TWO pieces of evidence that support this contention, and explain how each piece supports the contention.  

(B) Identify ONE piece of evidence that undermines the contention, and explain how it undermines the contention.  

Question Breakdown 

· The Task 

· Identify and explain 

· Note the date: EARLY 1800s. 

· This question is asking you to use the skill of periodization to assess the degree to which railroads were a turning point in European history.  

· Parts of the Question 

· You will notice that, as explained above, there are three parts to the question: 

· TWO pieces of evidence that support the argument with an explanation (this would count for two points). 

· ONE piece of evidence that undermines the argument with an explanation (this would count for one point). 

Sample Response 


The development of railroads was a significant turning point as it allowed for goods, produce, and people to be moved across Europe much faster. Prior to railroads, a farmer would have had a difficult time moving large crops to distant locations. However, with railroads, the farmer is able to make easily by expanding his market since he can reach distant locations. The movement of people was also made much easier. In early times, a person could not move very far from home, which caused a limited work environment. However, with railroads, citizens were able to look for work far from home an potentially make more income to support their families from afar. This led to migration to cities. 


While historians may believe that railroads caused a shift in Europe, not many things actually changed in some countries. Only England really saw the benefits of the railroad for the first few years of its creation. This created a large gap between Western Europe and countries in Eastern Europe, such as Russia, which did not experience railroad growth until the late 1800s.  

First SAQ Assignment 

Directions: Read the question carefully and write your response on the provided lined pages for the question. 

Answer all parts of the question. Use complete sentences as an outline or bulleted list alone is not acceptable. 

1. Many historians contend that the Neolithic (Agricultural) Revolution was a positive turning point in World History. 

a) Identify TWO specific pieces of evidence that support the contention, and explain how each piece supports the contention. 

b) Identify ONE specific piece of evidence that undermines the contention, and explain how it undermines the contention. 
